3aganue NeS Haiitu sxcTpeManu B 3a7a4ax Ha yCIOBHBIA AKCTPEMYM:

Ne papuanra

L, L e+e e+e
V(Y y,) = [(yy +y, +2y]y))dx,y,(0) =1,y,(1) = 0 Y,(0)=1y,Q2) =
1 0
YPaBHCHUE CBA3U y, + Yy, —4x =0
Vi(yy,) = [y =y )dxy (0) = 1y, (7)) =1,y,(0) = 0,y,(x) = ~=
2 0
YPABHCHHUE CBA3MU y, -y, —2sin x =0
2
V(YY) = [ ey -2y, y,(0) = —4,y, () = -y, (0) = 0,y,(5) = =
3 g 2 2 2" 2
YpaBHEHHUE CBA3U y, + y, + 4cos X = 0
1
V(v y,) = [y w2y 4 y)d,y,(0) = 1y (1) = 2e,y,(0) = 0, y,(1) = e
4 0
YpaBHEHHE CBA3U y, + y, + 4cos X = 0
2
T a Vs
V(YY) = [y =2y +y)da i (0) = 0y, () =1y, (0) = 0y, () = —
5 . 2 2° 2
YPaBHCHHUE CBSI3H y, — y; =0
: 2 2 .2 )2 % z
6 \ (yllyz) = J.(yl + y2 - y1 - yz )dX!yl(O) = 11 yl(;) = 11 yz(o) = 71' yz(;) =1
0
YPaBHEHME CBSI3U y, — y, — 2¢0s x = 0
1
V(yy,) = [y + v e,y (0) = 2,y, (1) = 2¢h1,y,(0) = 0,y,(1) = 2sh1
7 0
ypaBHEHHE CBSI3U Y, - Y, =0
1
Vi, y,) = [(ys + 2y + 2y )dxy, (0) =L y,(1) =e+e "y, (0)=0,y,(1) = 2e+e"
8 0
ypaBHEHHUE CBS3U Y, — Y, =0
1
V(v y,) = [y + v )dx,y (0) = ~1,y,(1) = ~1,y,(0) = 0,y,(1) =1,
9 0
YpaBHEHHUE CBA3H Yy, + Y, — 2x°+x+1=0
1
V(. y,) = [+ y) +1dx,y,(0) = 0,y,(1) = 2,y,(0) = 0,y,(1) = 0
10 0

YPaBHEHHUE CBSI3U y, + y, —2X =0




V(v y,) = [y v )dx,y, (0) = 0,y (7) = 0,y,(0) = 0,y,(x) =§

11
YpaBHCHHC CBA3U yl’ - y,—-xcos x=20
;’2’22d01ﬂ”2101””21
12 V(yl’yZ):'E(y1+y2+ ylyz)xlyl()_ !yl(z)_ 4+1y2()__!y2(2)_ 4_
YpaBHCHHC CBA3U yl’ + y; -4x =0
1
V(v y,) = [y +2y,y, + vy )dy (0) =Ly, (1) = ey, (0) =1 y,(1)=e
13 0
YPABHCHUE CBS3U y -y, —e +e =0
2
1
VY, = [ =y, v, (0) = v, (0) = 0,y,(5) = =y, (5) = - =
14 ) 2 4 2 2
YPaBHCHUE CBA3U y, — y, —sin x = 0
1
Vi(yy,) = [y + y)dx,y (0) =0y, (1) =1,y,(0) =1,y,(1) = 0
15 0
ABHCHUE CBSI3M Y, -y, =0
yp
1
V(yy,) = [+ v+ vk, y (0) =1, y,(1) = 2,y,(0) = 2,y,(1) =1
16 0
aBHEHUE CBA3U 2y, — y, —3x =0
yp 1 2
1
VI, y,) = [y 2y +y)dy (0) =L y,(1) =e+e "y, (0)=0,y,(1) =2e-e"
17 .
aBHEHHE CBSI3U Y, — Y, =0
yp
2
V(YY) = [+ v+ vy ),y (1) = ~1y,(2) =1y, (1) = 0,y,(2) = -1
18 )
YPaBHEHUE CBA3U 15 x — 7y, + Yy, —22 =0
1
V(YY) = [+ v+ vy )dx, vy (0) = ~1,y, (1) = 0,y,(0) = 1,y,(1) = ~1
19 o
YPaBHEHUE CBA3U x + y, +y, =0
1
V(v y,) = [ (v + yi)dx,y,(0) = 0,y,(1) = 2sh1,y,(0) = 2,y,(1) = 2¢ch 1
20 0

ypaBHEHHE CBSI3U Y, — Y, = 0






